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Answers

1. 8,860

2. 64,970

3. 38,713

4. 5,036

5. 2,268

6. 47,413

7. 550

Solve each problem.

1) 40,942 - 32,082 =

8,860 8,862 8,942 10,942 40,942

-2 -80 -2,000 -30,000

2) 78,445 - 13,475 =

64,970 64,975 65,045 65,445 68,445 78,445

-5 -70 -400 -3,000 -10,000

3) 52,620 - 13,907 =

38,713 38,720 39,620 42,620 52,620

-7 -900 -3,000 -10,000

4) 29,321 - 24,285 =

5,036 5,041 5,121 5,321 9,321 29,321

-5 -80 -200 -4,000 -20,000

5) 39,829 - 37,561 =

2,268 2,269 2,329 2,829 9,829 39,829

-1 -60 -500 -7,000 -30,000

6) 83,082 - 35,669 =

47,413 47,422 47,482 48,082 53,082 83,082

-9 -60 -600 -5,000 -30,000

7) 15,613 - 15,063 =

550 553 613 5,613 15,613

-3 -60 -5,000 -10,000
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Solve each problem.

64,970 2,268 8,860 38,713

550 47,413 5,036

1) 40,942 - 32,082 =

40,942

-2 -80 -2,000 -30,000

2) 78,445 - 13,475 =

78,445

-5 -70 -400 -3,000 -10,000

3) 52,620 - 13,907 =

52,620

-7 -900 -3,000 -10,000

4) 29,321 - 24,285 =

29,321

-5 -80 -200 -4,000 -20,000

5) 39,829 - 37,561 =

39,829

-1 -60 -500 -7,000 -30,000

6) 83,082 - 35,669 =

83,082

-9 -60 -600 -5,000 -30,000

7) 15,613 - 15,063 =

15,613

-3 -60 -5,000 -10,000
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